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Question 12              

Question 13              
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Choose  the correct answer and write it on the answer sheet on page 2 
 

1. The  irrational  number in the set 








−−−− 5,
7

3
,3.2,7,4  is 

 a)   
7

3
     b)  5     

 c)   3.2      d)   7−−−−  

 
 

2. The simplification of the expression     

3/2

6

8
−−−−










x
 = 

 a)   
4

4
x

     b)  
4

4

x
    

 c)   
2

64

x
     d)   

44

1

x
 

 

3. The simplification of  

2

23

023
−−−−

−−−−−−−− 













hq

uwh
    = 

 a)   
2104

6

uhw

q
    b)  

26

104

uq

hw
    

 c)   
5

4

h

wq
     d)   

1046

1

hwq
 

 

4. The expansion of   )52)(13( ++++−−−− zz  is 

 a) 5136 2 ++++−−−− zz     b)  5136 2 −−−−−−−− zz    

 c) 5136 2 −−−−++++ zz                       d)  5136 2 ++++++++ zz  

 
 

 

5. The factorization of   3242 −+ xx   is  

 a)   )8)(4( +− xx     b)  )8)(4( −+ xx    

 c)  )8)(4( −− xx     d)  )8)(4( ++ xx  
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6. The factorization of   ====−−−−−−−− 4113 2
xx  

 a) )2)(23( ++++−−−− xx    b)  )4)(13( −−−−++++ xx   

 c)  )4)(13( ++++−−−− xx     d)   )2)(23( ++++++++ xx  

 
 

7. The solutions of  0492 2 ====++++++++ xx     are 

 a)   
4

1
,2 ======== xx     b) 

2

1
,4 ======== xx      

 c)   
4

1
,2 −−−−====−−−−==== xx    d)  

2

1
,4 −−−−====−−−−==== xx  

 

 

8. The solutions of  the simultaneous equations   
523

93

====−−−−

====++++

yx

yx
   are 

 a)   2,3 −−−−======== yx     b)  2,3 −−−−====−−−−==== yx     

 c)   2,3 ======== yx     d)  2,3 ====−−−−==== yx  

 

9. The coefficient of  2
w   in the expansion of )32)(5( 2 wwxw −−−−++++    is    

 a)  10     b) 6    

 c) 3−      d) 2  

 

 

10. The simplification of  
9

20

6

168

2

2

2

2

−−−−

−−−−−−−−
÷÷÷÷

−−−−−−−−

++++++++

r

rr

rr

rr
  is 

 a)   
)5)(2(

)3)(4(

−−−−++++

++++++++

rr

rr
    b)   

)5)(2(

)3)(4(

++++−−−−

−−−−−−−−

rr

rr
    

 c)  
)4)(5(

)3)(2(

++++−−−−

−−−−++++

rr

rr
    d)   

)3)(4(

)5)(2(

++++++++

−−−−++++

rr

rr
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11. The simplification of  
2

15

−−−−

−−−−
−−−−

x

x

x
  = 

 a)   
)2(

1072

−−−−

−−−−++++

xx

xx
    b)  

)2(

1062

−−−−

−−−−++++−−−−

xx

xx
    

 c)   
)2(

103

−−−−

++++

xx

x
    d)   

)2(

1072 2

−−−−

++++−−−−

xx

xx
 

 

 

12. The simplification of     
4914

49

7 2

2

++++++++

−−−−
××××

−−−− xx

x

x

x
   =     

 a)   
7−−−−x

x
     b)  

x

x 7++++
    

 c)   
7++++x

x
     d)   

x

x 7−−−−
 

 

13. Transpose the formula  )2(3 tbta −−−−====++++  to make t  the subject : 

 a)   
ba

b
t

++++

−−−−
====

32
    b)   

32 −−−−

−−−−
====

b

ba
t     

 c)  
ba

b
t

−−−−

−−−−
====

32
    d)   

a

b
t

1++++
====  

 

14. The Solutions of  the equation   0692 ====++++−−−− xx    are  

 a)   
2

1059 ±±±±−−−−
====x    b)  

2

1059 ±±±±
====x    

 c)   
2

579 ±±±±−−−−
====x    d)  

2

579 ±±±±
====x  

 

 

15. If  )( whmtf −= ,  and  6,2,3 === mtf  and  10=h . Then the value of   =w  

 a)  9      b) 11     

 c)   8      d)  7  



T.J. -6- 

16. If }integer,52,2with  |{ kkkxNxxA ≤≤−=∈=  then  

 a)  }5,4,3,2{=A     b) }3,2,1{=A      

 c)   }3,2,1,0{=A     d)  }1,0{====A   

 

 

17. From the Venn diagram,  ====−−−−∪∪∪∪ CBA )(  

 a)   }8,7{      b) }9,4,3{  

    

 c)   }6,2,1{     d)  }6,5,2,1{   

 

 

 

 

18. If },{ yxA ==== . Then 

 a)   Ax ⊆⊆⊆⊆      b) Ax ∈∈∈∈}{      

 c)   Ax ⊆}{     d)  }{xA ⊆   

 

 

19. If },,,,,,{ gfedcbaU ==== , },,{ cbaB ====  and },,{ gfeC ==== , then ====′′′′∩∩∩∩ CB  

 a)   }{d      b) },,{ cba      

 c)   φ      d)  },,,{ gfed   

 

 

20. The Venn diagram represent  

 a)   MT −−−−     b) TM ∩∩∩∩′′′′

     

 c)   TJUM ∩∩∩∩′′′′)(     d)  JT −−−−   

 

 


